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Use a table of values to graph each equation. State the domain and range.

y=2x2+4x—6 y=x2+2x—1 ’
x|y 1 x|y i
5 -4 -3 -2 - 4 ’
-1 L]
) 3
i :
T 54 3 -2 - r
Jaal): # Jaall -
-7 =
sl = @l -3
y=—x+2x+1 y=3x%—6x—2 ;
x | y 3 x | y i
5 -4 -3 -4 -~ L, 4 ‘2
-2
4 -3 -2 - 4
Jiadl - Jladdl : N
: - 2l -4
LS'AAM . - ¢ ) -5
-B -5

Find the vertex, the equation of the axis of symmetry, and the y-intercept P Y S,"‘ Qi J<d y s &21‘3 djw‘ U5 a.‘él.i.nj U““J'“ alass -\AJi

of each graph.

[y N 77| y
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/
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¥y=-

32+ 6x — 1
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Find the vertex, the equation of the axis of symmetry, and the y-intercept
of the graph of each function.

y=—x+2r+1

y=.1'2—4x+5

—8x+4+9

1

Consider each function.
a. Determine whether the function has maximum or minimum value.

b. State the maximum or minimum value,

—x2 +4x—3

¢. What are the domain and range of the function?

y=13x2+18x— 21

<A1 Js d.au
(S sa gl calie dad LAl (S 13 La das

sl gl palial) LBl <3 -G
flalaa g Al Jlaa e - 2

y=—3x2+6x+3
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. sl A JS
Graph each function. sl Adla JS Jha
O Faia BEH Ja ol galall ) gaal) adalia ol Gl ) Adaki 5 JiLalll g daa

y=—3;r2+6:r—4 y
9 8 -7 o ~4 ., 9 x

B

g

R T "

flx) =3x"—6x—1 ]
8 8 -5 - , 4 § 9x

-

-

-9
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: dunl) : au) Al Gl Ay ) calaall Ja 122 diladl Cieall Jas 48 9
A FETRREITE T JEREPOURU P REVE 30, S W ST FE WG IEN RPN NN . i) o) ‘

x* +3x—-10=0

b Ll Walae JS Jou

2 = 8
2xc—8x=0 L
?
X ¥ 6
-
= B R A 2 4
s oo o o 1 3
2 2
=1 1
- |
6 -5 -84-3 2 -  ngn F 4G
> ‘ : B ‘
5 2
7 -3t
=8 -4
g B
=10 &
<t 2
12 S9N
43
X X = | o —LXT — OX =
17 s
X ¥ 18 X y 2
P | 1
44 T % 5§ P - g3
- | ] A
i 2
11 i
0 d
s -5
g 6
? i
& =8
5 9
| 4 10
e =11
—2 12
4 -3
-4
5 -8 -8 2 - 1 e
| . N Y -
2 -8
w17
2
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8
—x2 —5x+1=0 g
=]
5
X y 15
s
2
1
7 6 -5 -4 -3 2 -4 1 2
‘ 1
2
15
-4
-5
5
'}.‘
}.‘
x2 — 8x=—9 =
s
b
1
-2 - ] R F ¥ & T B
il 32
2
-3
-4
-5
L&
7
=8

[
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135 m/s \ o, elgd) u-°' taslal!

\

!
h = —16 + 135t]\

1oL h 2l 5,5 glasy) h = <1612 + 47t + 3 wslad) Jis dudd! 3,500

Lgss s ) ey sy
Seloudllis8) 8 SN BT wSB. S s Sl

elsy) h s h= 1617 + 761 wsladl clsgll b calod) 5,5 glasy) Juia oS ol
Mgﬁba;ﬂ

Seload) 0 5,80 ciS, oS @
95,50 Lwa3¥ gl,¥ L Wb
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:P*"Y‘

2l Jlasly Loy ) el Ja 1-3 eilad) Cial) Jas 48 g

R b LR i i |

ol Ol Amy il ¥ aleall s 22

SalS Ly 390 (36 JS Jand ) € ded ax
x2 —18x+ ¢

x2 —7x+ c

x4+ 22x + ¢

x2+ 9%+ ¢

o) a3 13) b e (e i Al I By gl JleSh ok Leo Wilae U5 o
x2 +4x=6

x2 —8x=—9

—2x2 +10x+22=4 452 oy —1 =0
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L3 .10 M s Lgs e (0 ST 28,000 Jobo 59Ss o)) s
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Gran ) Asbadd) Gy e e pgad ShLeY eyl P el LS 0Se ddled! a8 yayl!
SAED 80 ol 143 11955 20 wcs8] el ol s Al sue s Tt p= 35— 0.05F

WL (S TREVR 15- PR PR PN | JUN PRNLE JYLUPYS Pt RIES REH]

A = 45 in?
xin.
L —l -l
{(x+ 8) in.

Aseoeall slace¥) ax 483 ga fdline Gl 03,8 Gasasus pdde (o b FRV]
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) Jal sl ) Julasily A ) calaall Ja 14 el cikal) Jas 48 g
Jalsadl ) Jalaill aladiull G il ¥alad) Ja -2 L) i) Hapally Amy 55 ¥ ol A4S -] :alail) )

ned! Ggdad) ol plasiuly dewlid)) Zhsall duny 5 Wslae o)
Write a quadratic equation in standard form with the given root(s).

~85 7 % 3.4, 0.6

1
' 4

Factor each polynomial.

(Jalgad] ] 3gu 3,88 US Yl
35x% — 15x 3x2 —12 18x% — 3x + 24x — 4 | 48cg + 36¢f — 4dg — 3df

Solve each equation. AL S¥alagd) e JS U5

x2—36=0 12x2 — 18x =0 12¢2—2x—2=0 | 2x2— 24x=—72

SENSE-MAKING Tamika wants to double the area of a>liuo dncling dy 9> a0 5 ui-h.i.o." EL‘L’J—#"'

her garden by increasing the length and width by the TOT | T | L) asl s s e s

same amount. What will be the dimensions of her 2 gty oy yally “'J a3k G u—‘- s

garden then? e Lamas sla) (pSau oS
9m

6m

11
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say) Complex Numbers &Sl 3 1-5 Slal) ciuall Jas 43,
A e dlae] aladiuly cilaall ¢ a) 22 A 4l dlaef alasiuly Gllea) ¢ ya) -1
Simplify. o
—81 (4i)(—31) (12 + 5i) — (9 — 2i) (10 — 7i) + (6 + 9)
125 163 i4ﬂ —32
(—31)(—71)(2i) (3 + 5i)(5 — 3i) (1 + 24)(1 — 2i) 3V—24 - 24/—18
5 5+i 2i (5 + 1)
2 + 4i 3i 1+i 3—i

12
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Solve each equation.

P +4=0

3x2 + 48 = 0

AIED) ¥ alagd) o S b

6x> + 108 =0

Find the values of @ and b that make each equation true.

da+ (4b+ 2)i =9 — 6i

.ma;mdsdaqsgnlb,agu,jq
2x+7+@B—yi=—4+6i

s V= C» IZJ,.th ‘...\:‘-..ul el g

Sagrd! ilo oS pslj = 5 doglaall §L3s unol3 + 65505 b 5Lall gLy

) gl oS .as) 6 — 4 desladd) alag .cdsd 20 — 12 3505 3wyl glo

13
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Jeaall g alad) G538 1-6 Jdilall cial) Jas 43,4

OB anali 3 anli

o) Ol o 2 Ay et et At
s il o 3l s rpladl) il
Lo gy i alalaa i 2o sl Guadll aladial L)

Solve each equation by using the Quadratic Formula.

Pl gl plasiul Wslae JS J>r

a9 -
2 4 ABy = —D . - : w8 -
x* + 45x = —200 3x2 —4x — 8= —6 12x% + 9x — 2 = —17
Complete parts a-c for each quadratic equation. o 5 Walae JS u’ cJJlage ‘|5,,‘m ‘J.éi
a. Find the value of the discriminant. ; ieedl ied o> .a
b. Describe the number and type of roots. PPN Jgﬁ;dl 2k b
c. Find the exact solutions by using the Quadratic Formula. ) ’

plad) gl plasiiuly 4adudl Jalod) s .C

272 4+ 3x—3=0 2 — 6y

= 2x2+4x+7 =0

14
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doan AN J)gal) ey sas 1-7

ailad) Cial) Jas 48 g

— Al Jlgall e slas¥l 13 udas -2
OV A anss

A Al Jlall e 2o 1 Gadas -1

Y =a(x - h)? + k 2aall a5 2o 4LS -3
Y= ax - h)? 4k tigall 013 L) Jisal) 2ol cdltal Ly — 4 '
SO =2 3 pld) Sl W1s JS bl )l kS e

g0 =5 + x? f(x) = x> — 7

gix) =(x— 3)?

gix) = (x + 2)?

gx) = (x + 2)2 + 3 gx) = (x—4)2 -4

h(x) =5x% —2

ol 2
g(x)—3x T 2

h(x) =2(—x)2—29 JOO) =— 2(x— 1% — 2

15
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ilgealy ) ililatal o §5he 83
L palsd) i) ieilly Walae JS Galle
A gl B 1Y C y
N 7
\ 1y N X £
\ 9 0 X
\
N\ N\ 7
SR EL N[
|_4|| Oy X
D Ly E ‘ by F [
0 X
- O &=
/ \ X - . M
\[JI lof [x
.r’ ] ‘i‘ L | ﬁ
y=%x2—4 y=%(x+4)2— y=%xz+4
y=—312—2 y=—12+2 = (2x + 6)2 —
2
y= a(x—h) +k
Glail ol saai gasiaoyy  wh @bl
Juls=il oi

16




050-2509447 2S¢ dabul dhas [ (udall Jas https://t.me/alllaaam82

Gl ) clilatial 5 2 30k 3L
Write each function in vertex form. v P Adeas Wy JS S|
7
y=x"+6x+2 y:—lrz-k&r—fr
1oh ol ) ilas) 1A ol ) cililaa)
P SBUL eaa Qalaa HPL) Bl gaa Uolea
2 2 "
y=4x" + 24x + 24 y=—2"+ bx
s ol ) il 2o ol ) cilfilaa)
R Bl gaa alaa (R LBl ) gaa alaa

‘?gsl__..,.ﬂ izl P Ayl alal) Lo ddade (0 gl

(-3, 6)1Y

Ay=—(x+32+6

By=—-(x—-—3)2-6
Cy=-2(x+3)?2+6

(5,24 y= A d)
Dy=-2(x—-3)2-6

—
#—-‘Q-——

17
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el ) cililatal o 3 318
Which is an equation of the function shown in R y
14
the graph? | (-4,13)% |,
=i g 10
F y= 25{.\ 1)« +2 8
7 B
Glf:g(n'+1}2—2 \4',
] \ :
H y= %{x +1)2—2 0864200 2 4 6x
(127§ T 1]
25 ?
] y—?{:r—l}—i-z
Graph each function. Gile @15 JS Lo
= (x—>5)2+3 g= —2(x — 5)2 y %(1 i 3}2 — 10
¥ J
3 BEEEEEEEEL 3 2 - BEEEEEIE]
7 ~ 2
5 -3 3
5 =4 d
% =5 5
2 =8 ®
: , g
“ -8 e
. X -g g
1 2 3 4 5 6 1 8 9x 10
Write an equation in vertex form for each parabola. LASa adad S Gl ) Aday Atlas Gis)
b 1
1ol +A14(7 10) P60
8 0 / \ X
: /N
4 J A
j 21 (6,1) 'I’! "\
-8-5-4-:|eo 2 46 8x | (6, —6) ]
—4
_ | \
! ¥ ¥
18
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S E S i ) (s S ) clidiall L) Sl - " ‘
B p I O (g peatiay Apa il - Sl il -] R ‘
2ty ke g 0 ilidiall Ja 2 :
Graph each inequality. Lol Zulde JS fe
yixz—B.x-FZ y>x2 + 6x— 2
x |y ’ =
y i v}
- - - -
(o) X 0O X
) Y
1;2—.rz+4.x+1 —.rz+'121—36}3;
'
y 1}
[y -
0O X
- -
0] X
' |

19
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SENSE-MAKING Solve each inequality by graphing,. (P! Jesdly Cotiuso Gt 5 Al JS Jor el gliiwy)

2 =
O<x®—=5x+4 x? + 8x + 15 < 0

by
5
)
3
2
- = - .
L
7 -5 1 -4 -3 -2 -1 .
-1
| =3
2
424+ 12x+10< 0 —2x2+3x+3<0
1 >
10 i)
&
-3 -2 - 2 F. g
| & 7 -1 _1L 3
4 >
3 r_n
=3
3 2 4
1
=5
-4 -3 -2 -1 1 -F
1

20
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Solve each inequality algebraically.

x2+ 6x—16<0

x2 — 14x > —49

—x2 4+ 12x = 28

x2—4x <21

) = - X2+ 6 1 sy bt K 8180 o8 (5 e 55k S5 e e Jaae 1 Ay jlanal) digh)

SUEYI e ol 7 gl ) e 5 i) ula e 58 L

21
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4 J5w4cm2Lg,.>Luu Sl o yady Ggiiall pial puuadl)

4 13) olamd) sadad & L ssned) Giad) o dms e Aalad oy Lols
L . gsaial) pos Jios VIX) = 4x% — 64x + 256 ~uls
Gl ¥ Bsaced) peee S 15) ELa® panal) 3ual) Zadad sl

-— X - . $ 750 cm3
| |
| |
| |
4 4
Write a quadratic inequality for each graph. ol ey 08 Ay 5 Adlila s
vy
6
“ (=2, E}L *{B, 6)
2 r
- i 1
“6-6-4=2] 7 416 bx
i
(0, —B}_ﬁ, (4, —6)
_ LW, L6 4* ]
s |2 | |
P N ERSTY
| X
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